ISC2023 analysis of study-solutions
Minski study Nr 4

all correct [wrong [nothing
1.f4 181 145 14 22
Kxf4 145 137 7 1
2.5f2 137 137 0 0
Ke3 137 127 9 1
3.5g4+ 127 95 30 2
Ke2 95 93 1 1
4.Se5 93 89 0
Bd7+ 89 47 26 16
5.Kc7 47 39 5 3
Bg4 39 37 0 2
6.Bf1+ 37 35 0 2
Kf2 35 5 29 1
7.5d3+ 5 4 1 0
Ke3 4 3 1 0
8.5b2 3 2 1 0
Kd4 2 2 0 0
9.Bb5 2 1 0 1
Gurgenidze study Nr 10

all correct [wrong [nothing
1.Rh4+ 181 106 44 31
Kxgb 106 103 2 1
2.Rg4+ 103 91 10 2
Kh5 91 91 0 0
3.b8Q 92 83 6 3
Qe6+ 83 75 1 7
4 .Kf8 75 73 2 0
Qdé+ 73 72 1 0
5.Kf7 72 70 2 0
Qxb8 70 66 0 4
6.Rh4+ 66 66 0 0
Kg5 66 66 0 0
7.Rh5+ 66 66 0 0
Kxh5 66 66 0 0
8.g4+ 66 66 0 0
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1.Rh4+ Kxgb6 2.Rgd+ 3.b8Q Qe6+ 4.Kf8 Qd6+ 5.Kf7 Qxb8 6.Rh4+ Kg5 7.Rh5+ Kxh5  8.g4+




Melnichenko nr5 Cat-2

all correct [wrong [nothing
1.Bf5+ 172 102 9 61
Kh4 102 70 26 6
2.Kxf2 70 48 21 1
Rf1+ 48 45 1 2
3.Kxg2 45 45 0 0
Rxf5 45 41 1 3
4.5f3+ 41 38 1 2
Kga 38 29 7 2
5.5xf6+ 29 23 0 6
Kf4 23 23 0 0
6.Bcl# 23 22 0 1
Bondarenko, Kakovin Nr11 Cat-2

all correct [wrong [nothing
1.Rb4 172 42 60 70
Bf5+ 42 30 7 5
2.Kh4 30 21 8 1
b1Q 21 21 0 0
3.Rxbl 21 21 0 0
Bxb1 21 20 0 1
4.Bad 20 19 0 1
Bd3 19 18 0 1
5.c4 18 17 1 0
Bxc4 17 17 0 0
6.Bc2 17 17 0 0
Bg8 17 13 1 3
7.Bad 13 13 0 0
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Bent, Whitworth Nr 6 Cat-3

all correct [wrong [nothing
1.d7 248 202 20 26
Be7+ 202 76 106 20
2.Kxe7 76 75 1 0
Se5 75 61 12 2
3.Bf1+ 61 51 9 1
Kb7 51 50 1 0
4.Bg2+ 50 49 1 0
Kab 49 35 6 8
5.d8R 35 13 22 0
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1.d7 Be7+ 2.Kxe7 Se5 3.Bf1+ Kb7 4.Bg2+ Ka6 5.d8R




